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DAY 28

MQAThS FOcUS: properties Of number and shape

HePFUl HINTS: Think abOUT all The different ways in Which numpers and shapes can be different and wWrite Them down SO YOU have some ideas Of
WhaT TO |00k OUT £Or
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Lily has written down some numbers and
has drawn some shapes. She has drawn a
ring around the odd anes out.
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1.Explain why 4 is the odd one out. Possible
reasons could include: it’s even, it divides by
2, it’s in the 2 times table plus any other
valid reasons
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2.Explain why the triangle is the odd one
out.Possible reasons could include: it only
has 3 sides, it only has 2 lines of symmetry
plus any other valid reasons

Lily has written down some numbers and has
drawn some shapes. She has drawn a ring

around-the-dd ones out.
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1.Give two different reasons why 6 is the odd
one out. Possible reasons could include: it’s
divisible by 6, it won’t divide by 5, it's a 1-digit
number plus any other valid reasons

2.Give two different reasons why the
trapezium is the odd one out. Possible reasons
could include: it only has one line of
symmetry, it doesn’t have any right angles, it
has no perpendicular lines plus any other valid
reasons

Lily has written down some numbers and has drawn some shapes. One of
her numbers and one of her shapes are the odd one out.
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1.Complete each of these sentences with at least one reason.
a) 25 could be the odd one out because...it’s divisible by 5
b) 4 could be the odd one out because...it’s even or the only 1-digit
number, the only number not in the 20s
c) 21 could be the odd one out because...it’s not a square number, it’s
divisible by 7
2.Complete each of these sentences with at least one reason.
a)The parallelogram could be the odd one out because...it has no lines of
symmetry
b)The trapezium could be the odd one out because... it only has one set of
parallel lines/ not all it’s sides at parallel
c)The regular hexagon could be the odd one out because...it has more
than 4 sides or it has more than one than 1 line of symmetry
Plus any other valid reasons!




